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7. E WNEE HA, A7]E9 dH ] HolE 2.

(9] Hol) =3x2x3.14 x 5 = 94.2(cm?)




o] Wol) =4 x4x3.14 = 50.24( cm?)
)=4x2x3.14 x 10 = 251.2(cm?)
) = 50.24 x 2 4 251.2 = 351.68( cm?)




27)%F0] 18] &1t Hole dHo] g2 Yoot 27 wjio]
FolE T
(F¥lol) =(A8) x 3.14x (=°])

=10 % 3.14 x 10 = 314( cm?)




10. e % 217} AL QAEEL o= AAYA?

@ AEo°] 14em ©]1L, =017} 5em < Y715
@ wbz]E°] 7em ©]1, 0|7} 4em Q1 €715
® 3 HA 7}t 7em Q1 ASHA
@) 24017t 96em? 9 AE T

® WHO AF7} 15.7cm 0], =9]7} 6cm ¢ Y975

~&B

@D 7x7x3.14x5 = 769.3(cm?)
@ 7Xx7x3.14x4 = 615.44(cm?)
® 7x7Tx7=2343(cm?)

@ & 2A 29 ZolE [ Jom = 3HH

[ x[ Jx6=96, [ |x[ |=16,[ ]=
E}E}/\il‘i—ﬂ“4x4x4—64(cm)%‘4‘:}

® @] Hx] 0] 15.7 + 3.14 + 2 = 2.5(cm) ©]
Hul= 25x%2.5x3.14 x 6 = 117.75(cm?®) 4U th




11.

A7]%52] Hu]7} 452.16cm® & o, WH O]

~&B

[ Jx[ ]x3.14x9 =452.16
[ x[ ]=452.16 = (3.14x 9) = 16
I:’:4 (cm)




12.

oF B AL H IR I 2A|Q,

O 174 @ 271
® 574 @ 107Y
@) =49 s
BAe Ame] BAMNA A U] E 9 & AL ol
MBI,
o] AE-e B4 ol 18 4 &yt
whehd B4 0] A4k F45 Bayh




13. o391

m g 7loy] FEHIS ekl AU g & g}
00 9 191 W) 7} ]S Lk A B 874 ke AL BT

=Z0|H| 42|

0 (%)

A

@ F7H] : 135 5000

@ A= : 1395000

® 7Ier : 2] A mo A 5 %A F Fe AA] stE=
10%E e,

weba 7)eb7} el A= 908 x0.1 = () ol ek,




14. 32 840]9 3t g &= Yetdl Zdy AES 4
12000 Yol H oA, A2 gt FH-2 dupdy7t?
0
H8E
50
@D 20000¢ (@)24000% ® 28000¥
@ 300009 ® 320009

=2 5(%)

AEo] U= Hl& 1 5(%) x 3 = 15(%)
A A= 1 120000 9)

A o= ]

[ ]x0.15 = 12000

[ ]=12000+0.15

[ ]=80000( %)

Aol YeRl= H& & 5(%) x 6 = 30(%)
A5 F 1 80000 x 0.3 = 24000( )




15.

H o] yo]7t 153.86cm? Q1 ¥ 7|52 B4 0|7t 527.52 cm?

o o,

(Buel)=(ZHol)x2+(dHol)
527.52 = 153.86 X 24+ 7x 2 x 3.14x (%&
527.52 = 307.72 + 43.96x (3°])
(¥0])=219.8 = 43.96 = 5( cm)

°l)




16.

>
[> & 3.768L

275 0] % w2 o <lok et
(6] Hojof & 29 of)

1
= (10x 10 x 3.14 x 36) e

=10x 10 x 3.14 x 12 = 3768( mL) — 3.768 L
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5
£
3
o i
RO

30( %)

]

20( %)

100 x =

RY-1g

20 x & = 16(%)

24 :

100 — (20 + 16 + 30) = 34( %)

44t :

AA= 17+ 0.34 = 50(F)




18. ta YAEF 9] FuE oL,

(4x4x314%x6)—(1x1x3.14x6)
=301.44 - 18.84
= 282.6(cm?)




